| Efficiency vs Dxy |

>.0.02r
<

..................................
..................................

[
||||p|||

0.9

0.8

.................................

.................................

| Efficiency vs Dz |

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT_mKFIit_ORIG
—«— DQM_TT__mkFit_MODIF
—— /data2/legianni/newRel-PR129/sta/CMSSW_13 2 0 _pre3/src/DQM_TT__ ORIGok

N 0.0]
o

00O+
2 : : : : :
£ /008
‘o : : : : :
$.007 B Frrereree frorereeeee A
() : : : : :

0.006
0.005
0.004
0.003
0.002
0.001

...............................................

10

Ratio

2030
TP dz (cm)

—+— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__ ORIG




	Contents
	Page 1


